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Classic Sudoku 6x6 (4 points each)
Place digits 1~6 in the grid so that every row, column, 2x3 thick-outlined box contains the numbers 1~6 exactly once.
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Classic Sudoku 9x9 (20 points)

Place digits 1~9 in the grid so that every row, column, 3x3 thick-outlined box contains the numbers 1~9 exactly once.

4111716823 [5]9
312(911(5/4]|8/6]7
6(5/8|13]97|4|1]2
7191141251683
8163197 /1|5/2|4
2145183 /6|7/9]1
O1 71215148136
5/3/61711/9124 8
11814126319 7]5

Classic Sudoku 9x9 (28 points)

Place alphabets A, C, E, G, H, I, M, N, S in the grid so that every row, column, 3x3 thick-outlined box contains each
alphabet exactly once.

M|S|T|G/B|/A|IN|E|R
NIA/BIM|E|R|T|S|G
RIE/IGIN|S|T|A M| B
SIGIM|A|RIN|B|I|E
B/ T/E|S MG|R|A|N
A/RINIB|/T EIM|G|S
E|IB|A|JR|GIM|S|N|I
G/ NIS|IIT|A|/B|E|R|M
I MR|IE|NIS|G|/B|A
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Odd Even Sudoku 6x6 (3 + 3 points)

Place digits 1~6 in the grid so that every row, column, 2x3 thick-outlined box contains the numbers 1~6 exactly once.
Shaded cells contain even digits

112 316([4|5 11431652
6 543 |12 2|6 51143
513161112 |4 3121415161
21411563 511161234
416|512 3|1 6 (3214 (1|5
3111214 5|6 41 5(113]2|6

Odd Even Sudoku 9x9 (12 points)

Place digits 1~9 in the grid so that every row, column, 3x3 thick-outlined box contains the numbers 1~9 exactly once.
Shaded cells contain even digits.
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S NI (N J)|— W |\
O ([ O\ ([ —m DN | O W|lH |00 |
QN W I A|H ~[D]o0 | O Wn
N i B0 W[ ]IJ ||
0 O[NNI N|W =B
N |00 | O ]J]W | BN O |-
— N N J |0 N]O || W
W A A= O] | Q|00
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Trio Sudoku 6x6 (3 + 3 points)

Place digits 1~6 in the grid so that every row, column, 2x3 thick-outlined box contains the numbers 1~6 exactly once.
Circled cells contain the digits 1 and 2. Shaded cells contain the digits 3 and 4. White cells contain the digits 5 and 6.
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Trio Sudoku 9x9 (13 points)

Place digits 1~9 in the grid so that every row, column, 3x3 thick-outlined box contains the numbers 1~9 exactly once.
Circled cells contain the digits 1, 2, 3. Shaded cells contain the digits 4, 5, 6. White cells contain the digits 7, 8, 9.
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Diagonal Sudoku 6x6 (17 points)

Place digits 1~6 in the grid so that every row, column, 2x3 thick-outlined box and two main diagonals contain the
numbers 1~6 exactly once.

3 416
4 3 2
2 14
| 315
6 115 3
4151112

Diagonal Sudoku 9x9 (18 points)

Place digits 1~9 in the grid so that every row, column, 3x3 thick-outlined box and two main diagonals contain the
numbers 1~9 exactly once.

3021816|7]5]1
708 1[4]5/2[9]3]6
506/4|1/3/9]8(27
31116|7]/9|5]2]4 8
819 7|32 4|1]6]5
412568 1[3]7]9
204|9(5/7/3[6]8]1
6/7/3|9]|1|8]4]5]2
1582141679
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Irregular Sudoku 6x6 (12 points)

Place digits 1~6 in the grid so that every row, column,
thick-outlined region contains the numbers 1~6 exactly

once.
1[{5/4]3]|2]6
21113151614
4121611]13]5
51312161411
614512113
316|114 5|2

Extra Region Sudoku 6x6 (10 points)

Place digits 1~6 in the grid so that every row, column,
2x3 thick-outlined box contains the numbers 1~6
exactly once. The two sets of six shaded cells must
also contain the numbers 1~6 exactly once.

W ANl (D]~
N = lUn| N W | &
Nl ]—=|W]IND |
(@) W INUNEE [ SR EE S Y
— NNl Ww
Al ]lwW |~ | N

Consecutive Sudoku 6x6 (11 points)

Place digits 1~6 in the grid so that every row, column,
2x3 thick-outlined box contains the numbers 1~6
exactly once. If two adjacent cells contain consecutive
digits, it is marked by a bar.
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Killer Sudoku 6x6 (15 points)

Place digits 1~6 in the grid so that every row, column,
2x3 thick-outlined box contains the numbers 1~6
exactly once. The number in top left corner of cage
represents the sum of digits in the cage. Numbers
cannot repeat within a cage.
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